MIAMI-DADE MIAMI-DADE COUNTY, FLORIDA

METRO-DADE FLAGLER BUILDING

COUNTY
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901 FAX (305) 375-2908
NOTICE OF ACCEPTANCE (NOA) www.mismidade.gov

Alufab Hurricane Shutters, Inc.
13000 N. W. 38™ Avenue
OPA-LOCKA, Florida 33054

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 0.0365” (min.) Galvanized Steel Storm Panels Shutter

APPROVAL DOCUMENT: Drawing No. 05-147, titled “ 0.0365” Thick Steel Storm Panel ”, sheets 1 through
12 of 12, and sheet 1A of 12, prepared by Tilteco, Inc., dated Sept. 22, 2005, last revision #1 dated Sept. 22, 2005,
signed and sealed by Walter A. Tillit Jr., P.E., bearing the Miami-Dade County Product Control Renewal stamp
with the Notice of Acceptance number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.
INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.
This NOA renews NOA # 05-1003.15 and consists of this page 1, evidence submitted pages E-1, E-2, E-3, & E-4
as well as approval document mentioned above.
The submitted documentation was reviewed by Helmy A. Makar, P.E., M.S.
e Helg i sspmmimins ams
. xpiration Date:
All))proval Date: 07/17/2008
07//7/2/003 Page 1



Alufab Hurricane Shutters, Inc.

—

A.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVALS

DRAWINGS

1. Drawing No. 96-280, Alufab Hurricane Shutters, Inc., 20 gage Steel Storm Panel,
Sheets 1, 2, 3, 4, 5, 6, 7, and 8 of 8, prepared by Tilteco, Inc., dated 06/25/97, signed
and sealed by Walter A. Tillit Jr., P.E.

TESTS

1. Test report on Uniform Static Air Pressure Test, Large Missile Impact Test, and
Cyclic Wind Pressure Test of 20 gage (0.036") storm panels, prepared by American
Test Lab of South Florida, Report No. ATL # 0822.01-96R, dated Sept. 24, 1996,
signed and sealed by Gerard B. Sullivan, P.F.

CALCULATIONS

1. Storm panel shutter calculations, Sheets 1 through 14L by Tilteco, Inc., signed and
sealed by Walter A. Tillit Jr., P.E., dated 09/18/96.

2. Storm panel shutter calculations, Sheets 1 through 24 by Tilteco, Inc., signed and
sealed by Walter A. Tillit Jr., P.E., dated 05/12/97.

MATERIAL CERTIFICATIONS

1. Mill Certified Inspection Report, dated 07/10/97, for Hot Dipped Galvanized coating
G-60 Steel, ASTM A653 Grade 40 by Robert O'Neil of R & R Metals, Inc., with
chemical composition and physical properties.

2. Tensile Test Reports from Certified Testing Laboratories, Job No. CTL-766B dated
09/23/96 for galvanized steel, tested per ASTM E8-93, signed and sealed by Ramesh
Patel, P.E.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #98-0915.03
DRAWINGS
1. Drawing No. 98-210, titled “20 Gage Steel Storm Panel”, prepared by Tilteco, Inc.,
dated August 24, 1998, last revision #1 dated August 24, 1998, sheets I through 8 of
8, signed and sealed by Walter A. Tillit Jr., P.E.

TESTS :
1. Test report on Uniform Static Air Pressure Test, Large Missile Impact Test, and
Cyclic Wind Pressure Test of 20 gage (0.036") storm panels, prepared by American
Test Lab of South Florida, Report No. ATL # 0822.01-96R, revised on August 17,

1998, signed and sealed by Gerard B. Sullivan, P.E.

2;@:9 A. Makar, P.E., M.S.
roduct Control Examiner
NOA No. 08-0527.08

Expiration Date: 07/17/2009
Approval Date: 07/17/2008



Alufab Hurricane Shutters, Inc.

C.

D.

> w

> =

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

CALCULATIONS
1. Storm panel shutter calculations, Sheet 1 of 1, dated 08/25/98, by Tilteco, Inc., signed
and sealed by Walter A. Tillit Jr., P.E.

MATERIAL CERTIFICATIONS
1. Mill Certified Test Reports issued by Madison Metal Service, Inc., with chemical
composition and mechanical properties of the steel panel.
2. Tensile Test Report No. QCMet 8IM-2161, prepared by QC Metallurgical, Inc., dated
09/04/98, signed and sealed by Frank Grate, P.E.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #00-0128.04
DRAWINGS
1. None.

TESTS
1. None.

CALCULATIONS
1. None.

MATERIAL CERTIFICATIONS
1. None.

OTHERS
1. Letter from Alufab Hurricane Shutters, Inc., dated F. ebruary 19, 2000, signed by
Bobby Andrade, stating that there is no change Jrom existing drawings.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #01-0530.01

DRAWINGS

1. Drawing No. 01-0435, titled “ 20 Gage Steel Storm Panel ", sheets I through 12 of 12,
total of 13 sheets, including sheet 14, prepared by Tilteco, Inc., dated February 26,
2001, last revision #2 dated May 30, 2002, signed and sealed by Walter A. Tillit Jr.,
PFE.

TESTS

1. Test report on Uniform Static Air Pressure Test, Large Missile Impact Test, and
Cyclic Wind Pressure Test of 20 gage (0.0365") storm panels, prepared by
Construction Testing Corporation, Report No. 00-036R, dated April 30, 2000, signed

and sealed by Christopher G. Tyson, P.E,
Be A Al

Hefy A. Makar, P.E., M.S.
Product Control Examiner
NOA No. 08-0527.08
Expiration Date: 07/17/2009
Approval Date: 07/17/2008



Alufab Hurricane Shutters, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

C. CALCULATIONS .
1. Storm panel shutter calculations, Sheets 1 through 46 of 46, dated 03/06/2001, by
Tilteco, Inc., signed and sealed by Walter A. Tillit Jr., P.E.

D. MATERIAL CERTIFICATIONS
1. Mill Certified Test Reports issued by Bethlehem Steel Corporation, with chemical
composition and mechanical properties of steel panel.
2. Tensile Test Report No. CTL-792F prepared by Certified Testing Laboratories, dated
August 28, 2000, signed and sealed by Ramesh Patel, P.E.

S. EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL # 03-0515.03
A. DRAWINGS
1. None.
B. TESTS
1. None.
C. CALCULATIONS
1. None.
D. MATERIAL CERTIFICATIONS
1. None.
E. OTHERS

1. Letter from Alufab Hurricane Shutters, Inc., dated May 1, 2003, signed by Bobby
Andrade, stating that there is no change from existing drawings.

2. Letter from Tilteco, Inc., dated May 12, 2003, signed and sealed by Walter A. Tillit Jr.,
P.E, stating that he is still the engineer of record for Alufab Hurricane Shutter, Inc.
and he is still in the engineering business.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #05-1003.15

DRAWINGS

1. Drawing No. 05-147, titled  0.0365” Thick Steel Storm Panel ", sheets 1 through
12 of 12, and sheet 14 of 12, prepared by Tilteco, Inc., dated Sept. 22, 2005, last
revision #1 dated Sept. 22, 2005, signed and sealed by Walter A. Tillit Jr., P.E,

> o

B. TESTS
1. None.

Kt 4. XL

Helify A. Makar, P.E., M.S,
Product Control Examiner
NOA No. 08-0527.08
Expiration Date: 07/17/2009
Approval Date: 07/17/2008




Alufab Hurricane Shutters, Inc.

X

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

CALCULATIONS

1. Revised Anchor Calculations and details for 0.0365 " Thick Steel Storm Panels, dated
September 23, 2006, pages 1 through 102, prepared by Tilteco, Inc., signed and
sealed by Walter A. Tillit Jr., P.E.

QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

MATERIAL CERTIFICATIONS
1. None.

NEW EVIDENCE SUBMITTED
DRAWINGS
1. None.

TESTS
1. None.

CALCULATIONS

1. Revised Anchor Calculations and details for 0.0365” Thick Steel Storm Panels, dated
May 23, 2005, pages 1 through 88, prepared by Tilteco, Inc., signed and sealed by
Walter A. Tillit Jr., P.E.

QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

MATERIAL CERTIFICATIONS
1. None.

}/c/f.a/&l/é\

A Makar, P.E., M.S.
Product Control Examiner
NOA No. 08-0527.08
Expiration Date: 07/17/2009
Approval Date: 07/17/2008



o

—2 004 "——1

/

\

1.400" 2,041"
—*17.050"[:-

14.380" (TOTAL WIDTH)

1.400" 1.400"
—-]1.230" [:-

.0365" THICK
GALVANIZED

.250"—

—.075"

.250"—| l——

1.000"—|

2.000"—
2.500™

—

—1,250"

@ "T" TRACK

SCALE: 3/8" = 1"

2"
MAX.

1257
Typ.

3.000™

@ TUBE

SCALE: 3/8" = 1"

2,041 71.400_:‘1050,.'__)) 2
A
%,

12.000" (EFFECTIVE WIDTH)

(D PANEL

SCALE: 3/8" = 1"

[——2..357"—-
. 2.357*
|ﬂ J [y
5 3 g
" 0 —
—-i}—.094" 8 & K
l ‘ N 1
Y —~
5 —{l—.003"%
" 093", i
o & 8
o3 BN om el t—, 093" _l N
—] 093" !
d J \S
I——z. 125——
225 5

(@ HEADER

(5005—T5 ALUMINUM ALLOY)
SCALE: 3/8" = 1"

(3 HEADER

(6005~T5 ALUMINUM ALLOY)
SCALE: 3/8" = 1"

—~ . 725"
450" N 525"
i .
: N 9 | 1/4° 8 S. S, L 625" .
075" E =8 STUD RIVETED TO -125"—~ = R .188 —‘ -
A 48 ANGLE @ 12" Q. ;?/\;E S S e
T 47 .o o6 4 T D 70 ANG,
M Lh or @ @ 8" 0. C
Y IR :
d o < ) o
N & 8 9 g — ——=—{§ :
N SEE ] 2%
\ DETAL 1 ™ & 4s
4 o= o
Q " ' ' 1 1
N L 2.000"—] l—2.000"—

B WEDGE PIN (1" LONG)

(6005~T5 ALUMINUM ALLOY)

SCALE: 3/8"

188" —

.4JB"——|

nFn

SCALE: 3/8" =

ox.
1_Min.

Ej

CONCRETE ANCHORS (SEE SCHEDULE)

= 1"

®), €B ANGLES WITH STUD

SCALE: 3/8" = |

]

6A ANGLE WITH STUD

SCALE: 3/8" = 1"

1/4" 8 S. S. STUD_|
RIVETED TO TUBE
© 12" 0. C

, b
ﬂ—ss
N

—2.000"——

I

SEE Q
:LT DRILL HOLE TO DETALL 18
INSERT STUD. -~
125" |- !
125" .
lasad
TRACK @ TUBE WITH STUD

SCALE: 3/8" = 1"

ax.

1 Min.
® of /
A A N R R B o I W B
’———‘/V‘/ﬁ i

A A A Q
Undureh panklk
(SHE | SCHEPULE) LA

.//’/

AL

A, / A
IIV ‘V / Av

A A

g
A

;QE""'%“"

o=

7
7

GAP
— |

LOCKING PINS @ 8" 0, C——— =

- M.Zn( CONCRETE ANCHORS (SEE SCHEDULE)
SCALE = NIS

"
Max.

77

$r1/4” Max. 1/4" Max. GAPE
Naatred ) W——

) ——_y

=

SCALE = NTS

COMPONENTS

L BOLTED PANELS W/ 1/4" #-20
M. S. BOLT W/ 7/8" x 3/32"
[

/" WING NUTS @ OVERLAPS

MIDSPAN (SEE SCHEDULE)

GENERAL NOTES:

1. STORM PANEL SHOWN ON THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) HAS BEEN VERIFIED FOR COMPLIANCE IN ACCORDANCE WITH THE 2004 EDITION OF THE
FLORIDA BUILDING CODE.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE. IN ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS
PAD. AS TESTED WERE NOT OVER STRESSED, A 33% INCREASE IN ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS. A DURATION FACTOR
CD=1.60 WAS USED FOR VERIFICATION OF FASTENERS IN WOOD.

STORM PANEL'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTION 1609.1.4 OF THE ABOVE MENTIONED CODE AS PER
AMERICAN TEST LAB REPORT # 0822.01~96R AND CONSTRUCTION TESTING CORPORATION LAB. REPORT # 00-036R, AS PER TAS-201, TAS-202, TAS-203 PROTOCOLS.

2. ALL STEEL SHEET METAL PANELS SHALL HAVE STRUCTURAL OUALITY ASTM A~653 SO, GRADE 40 G-60 GALVANIZED STEEL DESIGNATION WITH MiN. FY=44.38 ks (AFTER
ROLLED).

3. ALL ALUMINUM EXTRUSIONS SHALL BE 6083-T6 ALLOY UNLESS OTHERWISE NOTED.

4, ALL SCREWS TO BE STAINLESS STEEL 304 OR 318 SERIES W/ 50 ksi YIELD STRENGTH AND 80 ksi TENSILE STRENGTH OR CORROSION RESISTANT COATED CARBON
STEEL AS PER DIN 50018.

5. BOLTS TO BE ASTM A—307, GALVANIZED OR AIS! 304 SERIES STAINLESS STEEL, WITH 36 ksi MINIMUM YIELD STRENGTH.
6. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)

(A) TO EXISTING POURED CONCRETE:

~1/4"¢ TAPCON ANCHORS AS MANUFACTURED BY ELCO TEXTRON, INC.

~ 1/4"0 ZAMAC NAILIN ANCHORS AS MANUFACTURED BY POWERS FASTENERS, INC.

~ 1/4"8 x 7/8" CALK—IN ANCHORS OR ELCO male & female "PANELMATE" AS MANUFACTURED BY POWERS FASTENERS, INC, AND ELCO TEXTRON, INC. RESPECTIVELY.

NOTES:
A1) MINIMUM EMBEDMENT INTO POURED CONCRETE OF TAPCON ANCHORS IS 1 3/4", FOR ZAMAC NAILIN IS 1 3/4°, AND FOR ELCO PANELMATES 1S 1 3/4"

A2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE. NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4"8—20 SCREWS
USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 1" MINIMUM FOR WALLS WITH NO STUCCO. SCREWS SHALL HAVE 3/4"@ HEAD FOR DIRECT MOUNTED
PANELS, AND 3/4"8 OR 9/16"8 HEAD FOR ALL TRACKS OR PLATES.

A.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL OR FLOOR, ANCHORS SH;LL BE LONG ENOUGH TO

REACH THE MAIN STRUCTURE BEHIND SUCH PANELS, ANCHORAGE SHALL BE AS INDICATED ON NOTES A.1) & A.2) ABOVE. RODUCT RENEWED
as complying with orida
(B) TO EXISTING ASTM C—90 CONCRETE BLOCK WALL: Bmdin: ége the £
~1/4"8 TAPCON ANCHORS AS MANUFACTURED BY ELCO TEXTRON, INC. Acceptance Ng©

~ 1/4"8 ZAMAC NAILIN ANCHORS AS MANUFACTURED BY POWERS FASTENERS, INC.

— 1/4"9 x 7/8" CALK—IN ANCHORS OR ELCO mole & femole ‘PANELMATE " AS MANUFACTURED BY POWERS FASTENERS, INC.
AND ELCO TEXTRON, INC. RESPECTIVELY.

NOTES: Miam}
B.1) MINMUM EMBEDMENT OF TAPCON ANCHORS, ZAMAC NAILIN & ELCO PANELMATE INTO THE CONCRETE BLOCK UNIT SHALL BE 1 1/4 Diyision

B.2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT. NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4"8~20 SCREWS
USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 1" MINIMUM FOR WALLS WITH NO STUCCO. SCREWS SHALL HAVE 3/4"@ HEAD FOR DIRECT MOUNTED
PANELS, AND 3/4"¢ OR 9/18"@ HEAD FOR ALL TRACKS OR PLATES.

B.3) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN
STRUCTURE BEHIND SUCH PANELS. ANCHORAGE SHALL BE 1 1/4” MINIMUM FOR ANCHORS MENTIONED IN B.1). & 7/8" FOR ANCHORS MENTIONED IN B.2).

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S MANUFACTURER.
7. PANELS WITH LENGTHS OVER 8'-0" SHALL BE BOLTED WITH 1/4"#-20 BOLT AND WING NUT AT OVERLAP AND MIDLENGTH.

8. PANELS MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETAILS SHOWN ON SECTIONS 1 THRU 10 (SHEET 2, 3 AND 4 OF 12) EXCEPT THAT
HEADERS () & (3) SHALL NOT BE USED.

9. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS TO BE ATTACHED TO INSURE PROPER
ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR WOOD FRAME BUILDINGS.

10. SHUTTER MANUFACTURER'S LABEL SHALL BE PLACED ON THE EXPOSED SURFACE OF THE CENTER FLANGE OF EVERY PANEL APPROXIMATELY 4" ABOVE THE BOTTOM OF
SUCH PANEL. LABEL SHALL READ AS FOLLOWS:

ALUFAB HURRICANE SHUTTERS, INC.

OPA LOCKA, Fl.

MIAMI—DADE COUNTY PRODUCT APPROVED.

PRODUCT REVISED
11. (o) THIS PRODUCT APPROVAL DOCUMENT (P.AD.) PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT 88 eammivine with the Florids
PROVIDE INFORMATION FOR A SITE SPECIFIC PROVECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.A.D. Evﬁ .;é C‘Ee Vi RES HIRE
(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY Aceepizace Ne O 5-1003.15

OF THIS PRODUCT BASED ON THIS PRODUCT APPROVAL PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS

Expiration DateQ 7,
DETAILED ON THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S RESPONSIBILITY.

By .
(c) THIS PRODUCT APPROVAL DOCUMENT WILL BE CONSIDERED INVALID |F MODIFIED. Wiinrn: Do Frotuet Contrat
() SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A PROFESSIONAL ENGINEER OR ARCHITECT WHICH WILL Divisios

BECOME THE ENGINEER OF RECORD (E.O.R) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER
USE OF THE P.AD. ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.A.D. ENGINEER, SHALL
SUBMIT TO THIS LATTER THE SITE SPECIFIC DRAWINGS FOR REVIEW.

e} THIS P.AD. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE ENGINEER OF RECORD THAT
PREPARED IT.

F.B.C. (High Velocity Hurricane Zone)

DRAWN BY:
0.0365" THICK STEEL STORM FANEL LAV,
6/22/05
/ |||_ I ECO e \ ALUFAB HURRICANE SHUTTERS, INC.| ot
: 13000 NW 38th AVE,
TILLIT TESTING & ENGINEERING COMPANY OPA-LOCKA, FLORIDA 33054 05—147
6355 N.W. 36th,_St, Ste, J0S, VIRGINIA GARDENS, Fl. 33186 PH:(305)681-4701, FAX:(305)681-4604
Phone : (305/871 1530 . Fox : (305)871-1531 DRAWING No
EBR-0006718 REV. NO DESCRIPTION DATE REV. No DESCRIPTION DATE
WALTER A. TILLIT Jr., P. E ! OLD 01-045 9/22/08) 3 - -
FLORIDA Lic, 44167 Z - Z . - ——| SHEET 1 OF 12




.125*

me ™

—A S—
{0 2"x4"(Max.)x.125" ANGLE
(03 2"x5"(Max.)x.125" ANGLE

SCALE 3/8" = 1*

»

'——2.000"——‘—-{

7.000™

SEE
DETAIL 1

1/4" 2 8. 5. sTUD |
RIVETED TO ANGLE §
e 12°0. €

2 2°x 7" x

.250"—-I
YR

1 L

1/4"

ALUMINUM ANGLE

SCALE: 3/8" = 1"

5.000"

n—

MAX.

.125
TYP.

1/4" @ 5. S STUD
RIVETED TO ANGLE
& @ 12* 0.0

(0B ANGLE WITH STUD

SCALE: 3/8" = 1"

1/4" 8 S S,
RIVETED TO ANGLE
e 12° 0. C.

@

-

2.600"-—

|
SEE
DETAL 1 S

~

825"

125 -n—— 625"

=1\

—t

SEE <
DETAIL 1 &
T

2.000

SCALE: 3/8" = 1"

1/4" ALUMINUM
PLATE

ff;)oﬂz‘;aau J L
¥ —\->e—————————e——————e———A—T o e — - — -~ — - -—-—8-—-—0—
(190%cs T
HoL
/ DY RN
1/4"
ALUMINUM—") ‘J —J
PLATE A ]
- — - — - —- —— o—-—-0—-—--0--—- o
: X
o S I — . R
16" 28 |
» " »

@

SCALE: 3/8" = 1"

COMPONENTS

e s jes

PRODUCT RENEWED

as complying with the Florlde

Buiding Code

Acceptanceﬂo‘?g— 0527.08

Expiration Date

SCALE: 3/8" = 1"

DETAIL 1:

STUD W/ WING NUT

SCALE: 1/2" ¢ 1"

o9

F.B.C. (High Velocity Hurricane Zone)

DRAWN BY:
0.0365" THICK STEEL STORM PANEL i
9/22/05
/ |||_ IE CO \\ ALUFAB HURRICANE SHUTTERS, INC. DATE
INC. 13000 NW 38th AVE.
TILLIT TESTING & ENGINEERING COMPANY OPA-LOCKA, FLORIDA 33054 05—147
8355 N.W. 36th, St Ste. 05, VIRGINIA GARDENS, Fl_ 33166 PH:(305)681-4701, FAX:(305)681—4604
Fhone : (305§871-1830 . Fax ¢ (305)871-1531 DRAWING No
EB-0006718 REV. NG DESCRIPTION DATE " | REV. No DESCRIPTION DATE
WALTER A, TILLIT Jr., R. E. ! OLD 01-045 9/22/05 3 - - - 12
FLORIDA Lic, 44167 P - - y - ~ SHEET 1A OF 1




\CONCRETE CONCRETE
ANCHORS ANCHORS
(SEE SCHEDULE) \ (SEE SCHEDULE)
) .
POURED ‘x . 23 POURED = 4
CONCRETE N g = CONCRETE 8
REQUIRED \ Lt | REQUIRED !
T 1
[ i T Lo
& { |
\ N | I ’/® S | |
| Wi
: ! : Cont. " | |
N I |
\\\r\ \ | I \\\\ \\ I :
> 1
| - —@ | I |
| L ' I I |
- ]
| B § | I |
L /\/ I I /\/ g_, L .\/ i :k ]
f V [ 2% ] & | % [ |
| W |
| f o | |
SEE_SCHEDULE | a SEE_SCHEDULE || _ |
FOR Min. - FOR Min,
serARATION || I B seParATION || I
Ir0 EXISTNG 6LASS | | z lro ExisTING GLASS | |
I | | > I |
[
EJJ
} | | 2 } ! |
I — ) = | I !
7 I I 8§ 74 | ]
///////| | > JSSSX S |
i I A1 |
/M S AL
POURED W POURED ;
CONCRETE | /] i ] cONCRETE ' /] ) |
OR CONCRETE / OR CONCRETE (B
AR | | e 7 |
| IRED /] |
— 5 7 H
‘T / A | I f i j
——
CONCRETE CONCRETE
ANCHORS I / ANCHORS /
(SEE SCHEDULE) / (SEE SCHEDULE) /

SECTION @ ANCHOR

A

Cont.

4

SEE SCHEDULE
FOR Min.
SEFARATION
TO EXISTING GLASS

;

|
Yoo

N
N
AN

I
|
-
I
I
I
|
|
|
I
I
|

q
[
POURED M
CONCRETE
OR CONCRETE
BLOCK WALL
REQUIRED

‘_..-1-

e 12"

SOMNONANNN

SECTION @ STUD

WALL MOUNT. INSTALL.

®

7/8"% x 3/32"
L WING NUT ®
EVERY. sruo

0.C

N

S

Max. PANEL LENGTH (SEE SCHEDULE)

1/4" #-20 S. S.
MACHINE BOLT W/
7/8"8 x 3/32"

WING NUT @ 12" 0. C.

WALL MOUNTING INSTALLATION

CALK~-IN OR ELCO
male/female "PANELMATE"
(SEE' SCHEDULE)

.750"

POURED CONCRETE

OR CONCRETE

BLOCK WALL

REQUIRED
[~
Lj

N\

s I
SEE_SCHEDULE ||
FOR Min, ™
SEPARATION ||
|

|

4

TO EXISTING GLASS

|
-
!
I
|

77

/

S

[
(]
POURED CONCRETE
OR CONCRETE
BLOCK WALL
REQUIRED
E
sQ =

~= 11

Max. PANEL LENGTH (SEE SCHEDULE)

S

\i}\\\\

CALK—IN OR ELCO ———j

male/female "PANELMATE"
(SEE' SCHEDULE)

/

CASE?1 & CASE 2

SEE ELEVATIONS ON SHEET 4
OF 12 FOR SPECIAL CONDITIONS

WALL MOUNTING INSTALLATION

- SECTION 2

SCALE: 3/8" = 1"

(D. M.) ~ SECTION 3

SCALE: 3/8"

7

PRODUCT RENEWED
as complying with the Florids

E

D.

= EDGE DISTANCE
(SEE SCHEDULE ON

SHEETS 7 & 8 OF 12)

NOTE FOR COMBINATION OF SECTIONS :

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

— SECTION 1

SCALE: 3/8" = 1"

“)/“5&m

CONCRETE @ Cont.
Ag/tg: "s'? EDULE, \\1
HEDUL
¢ ) 4" 6-20 5. S,
\ VACHINE BOLT W/ NUT
\ & WASHER © 6 0. C.
POURED —— 2 ,_.\ 28§
CONCRETE RN | ) 8=
REQUIRED \ I“’. I._ cth

\

AN

an
/
v L

CONCRETE ANCHORS
(SEE SCHEDULE)

POURED CONCRETE
REQUIRED

\
\\]\\\\\"‘E'I

—_ e ———

.\V 4'
s A
SEE_SCHEDULE
I—— FOR Min. ~ ——
SEPARATION

| TO EXISTING GLASS

5

Max.' PANEL LENGTH (SEE SCHEDULE)

1

SEE SCHEDULE ||
FQR Min,
SEPARATION
TO EXISTING GLASS

I

A |

2|

A

Max.

250"

\[‘ Cont,

5

PANEL |ENGTH (SEE SCHEDULE)

I
I
T
| | I
I
777X 77 | |
/] | | | N
/ & : | | §
Conerere 4 / | I I 7/8"8x3/32"
Sfogﬁ”ﬁﬂi” / T_ : | _vg%c; rNg;ug
REQUIRED / N Cont. | le 120 ¢
e XL JOEan |
o 7] I_ Cont. ! aLrernare IF £ |
S / ] D | APPLICABLE T ‘
T D N
I { = h— 1 T
concerE J/ \@°°”" SN AL S
|TCONCRETE
(SEE SCHEDULE) POURED CONCRETE * L_ ANCHORS
SECTION ® ANCHOR REQUIRED 74— (SEE SCHEDULEy
A A E D.
o 1T T3 —
SEE_SCHEDULE 3
oo | | & FLOOR/CEILING MOUNTING
| 70 EXISTING GLASS | I a
I | I 8§ INSTALLATION — SECTION S5
|
| | g " "
77777 A ] l g SCALE: 3/8" = 1
I r’()j
/ | | g
l '
PONCRETE I 3
OR CONCRETE & = 060 ¢ 3
BLOCK WALL I il i
REQUIRED ==

SOOI

|4+—EQ-

1/4° #-20 5. S. MACHINE
BOLT w/ 7/8" o x 3/32"
WING NUT @ 6" 0. C.

CONT.

SECTION @ MACHINE BOLT

BUILD=QUT INSTALLATION — SECTION 4

Cont.

SCALE: 3/8" = 1" F.B.C. (High Velocity Hurricane Zone)
P DRAWN BY:
0.0365" THICK STEEL STORM PANEL -
9/22/05
ILIECO ALUFAB HURRICANE SHUTTERS, INC. DATE
INC. 13000 NW 38th AVE
TILLIT TESTING & ENGINEERING COMPANY OPA—-LOCKA, FLORIDA 33054 05—147
6355 N.W. 36th, Sk, Ste. JOS, VIRGINIA GARDENS, £ 13166} PH:(305)681-4701, FAX:(305)681~4604
Fhone : {305/871~1530 . Fax : (305)871<1531 DRAWING No
EB-0006718 REV. N& DESCRIPTION DATE REV, No DESCRIPTION DATE
) OLD 01-045  {6/22/08| 3 p -

WALTER A. TILLIT Jr., P. E
FLORIDA Lic. 44167

2

SHEET 2 OF 12




CONCRETE S:‘:,’;;,’Z,,,SZ E/L:angLMATE \ @ CUT END PANEL W POURED CONCRETE
ANCHORS (SEE’ SCHEDULE)
N\ 4 0) cont (SEE SCHEDULE) y I aN : T [ g?gf,,f}?f BLOCK WAL
’ I | Ve
' 8-20 5. S. MACHINE soLT . ' = /
BT\ CATERGATELY e e d gmere | N | 7
\ REQUIRED N __T BLOCH WALl | | \@ ;
N 1" Min ul CONCRETE ANCHORS
—E::i —[‘§ ;E{; —I.ﬁé \ s; | f \ o \} : // & 120, ¢
. W
| : Q
POURED CONCRETE \ e | [ /® \I | 2" x 4" x 125" é A
REQUIRED , ¥ \ I I Cont, I { J105-+14 OR 8083-T6 ALLOY 4 §
N | I \ | | \\\ \\ | ! ont. Alum. AN / .
\ 4 | I—@ OO N RN ; | . 72
[ I T | I__}@ I 3
\ ! NS | | I | | | g LA
NN \|\\ | " | | 1 | | I 5 CASE A (Plan)
I | | I I 9 * A— : b ) N
| B — | | | g | ; } ¢ SCALE: 174" = 1 N I
: v A cont - % : A\ — A~ 5 ! ! 1/4" 9-20 x 1" g \*2” e
Y g A » I M. s BOLT W/
" S ” | it i e pomgem,
E BL
SEE_SCHEDULE I m SEE SCHEDULE | | Iy | | Every overiae - % WALL REQURED o N
SEOR Min, I 48 Min, [ g | | A7 THE wmiDspan. §
| ARATION i | . SEPARATION . N
I 70 EXISTING GLASS | | = | TO EXISTING GLASS | g [ [ 3 : N
g ' g 1 — : > PRODUCT RENEWED N\ |
! | § | | E Ay v : i Florid
| T V a2 complying with the 5% \ 1
] ] g o %
| g | | : o sonmone | | Buiding Code 09~ 0527, oSN NN N\NNNNN @/'Et
A I I g : I § FOR Min. | Acceptance Mo~ - 09 x
X SEPARATION o ) 2o
A f cont. § | : C | 10 exsmve cass || I
c,,: / Cont, [ | e [ |l <:> "I I i —
i /| ! : S LS I | cont. ||l |
/ A3 | Y I T .
. A JCABL
—_—A— Q
_E_.._,L/f__-*: l POURED . | I \_ 2 ] = oo Seese—r o === =
POURED CONCRETE / —é F .8 I ggNggf/g;ﬂE I / | l e P g 1/4" 6 BOLT 4" x 4" x .093"
OR CONCRETE BLOCK / + S BLOCK WALL / I /////‘l ,1/ | // // @ 12" 0. C.  3105-H14 OR 6063-T6 ALLOY
WALL REOUIRED REQUIRED /] il | W/JACKNUT  Cont. Alum. ANGLE OR
/ 4 POURED CONCRETE 18 GAGE Galv. STEEL ANGLE
CONCRETE_ ANCHORS 7 REQUIRED H W /] 0 CONCRLTE BL6CK CASE B (Plan)
(SEE SCHEDULE) CONCRETE / / Cont. /__,n__ E D'_74 WALL REQUIRED
ANCHORS CONCRETE 4 SCALE: 1/4" = 1"
SECTION @ ANCHOR (SEE SCHEDULE) / . ANCHORS £ D CONCRETE ANCHORS /
s A ® 12" 0. ¢ (SEE SCHEDULE)
f v SECTION ©® ANCHOR ”""" vin
2" Mi
| see soneous | WALL MOUNT. INSTALL. — SECTION 7 N N ’ END CLOSURES DETAILS
SEPARATION I U,\
| TO EXISTING GLASS SCALE: 3/8" = 1" AN
| SEE_SCHEDULE _| I— L
| sggfﬁzmilv 1000t ALTERNATE LEG LOCATION

TO EXISTING GLASS 2"y 2" x 055" TO

2" x 5" x .085" Cont.

Alum. ANGLE OR

080" 3105~H154 SHEET

METAL Alum. BENT PLATE

OR 18 GAGE Golv. STEEL ANGLE

E D = EDGE DISTANCE
(SEE SCHEDULE ON

I
I
I
I
SHEETS 7 & 8 OF 12) | ]
: C Cont,
!
|
]

Cont.

7/8"9x3/32"
/—I—wwc NUT ©
| Every stup

@ 12° 0. C

NE

Max. PANEL LENGTH
(SEE SCHEDULE)

POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED

|

SONONONN NN

ALTERNATE IF |
APPLICABLE |
|

[
|
|
|
I
I
I
|
I
I
|
[
!
I

N |
h 1

Max. PANEL LENGTH (SEE SCHEDULE)

NOTE FOR COMBINATION OF SECTIONS :

He
WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE ////// ///////

I

8

F |
8 i

4

\ — COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. rouRED CASE C (Plan)
T Wi CONCRETE SECTION @ STuD SCALE: 14" = 1"
Cent. @ 12" 0. C WALL "FLOOR MOUNTING F.B.C. (High Velaocity Hurricane Zone)
-— ” DRAWN BY:
SECTION © STUD INSTAQASZ?ENJ = w 0.0365" THICK STEEL STORM PANEL | ™.
CALE: 3/8" =
9/22/05
UFAB HURRICANE SHU INC.
BUILD—OUT_INSTALLATION / liLleEco INe. \ ALUFAB HURRICANE SHUTTERS, IN ouTE
— SECTION 6 Y /ﬁ% Rl r‘i"s'lm o Jﬁ?"é’:g’f"ﬂ%a@o%’?ﬁ‘féq PH(30968 124301, A CI0DRE T~ 4804 05-147
o e W SCALE: 3/8" = 17 - N W, I8 Ste, ax/v'm R ' - s ! -
] %peg‘(; ?me Fhone '+ (et 555320027 79("05)5 i ReV, NO DESCRIPTION DATE | FEV. Mo DESCRIPTION DATE DRAWING No

DA Lic, 44167 2 - - 4 - =

,: 72 3 /%,- WALTER A, TILLIT Jr., P. E. : o o1-048 _ [9r22/08 s = —! SHEET 3 OF 12
M




TAPCON OR
CALK—IN ANCHORS

(SEE SCHEDULE
FOR SPACING)
/4" ¢-20 S. S,
MACHINE BOLT W/ NUT
POURED i § & WASHER @ 6" 0. C. CONT.
CONCRET! ; .
OR CONCRETE ' " ;ﬁcaNZ rJ/@Jz
BLOCK WALL =N “I EVERY STUD
REQUIRED  — e 12" 0. ¢
folel
7/ Q I
/ i ]
CONT. | ]
| I
| !
! | 1/@
I ] |
] | I
I |1 |
l | |
I |1 |
I | |
l I |
I | I
l || |
| | |
L A | A [
I \4 TV
| |
[ (R
f ||
| -
' SEE SCHEDULE FOR Min. -
| SEPARATION 7O EXISTING GLASS |
I I
| b
| |
I (-
I i
| .
[ |
| |
.
|1
[ |
(-
(-
|
|

£ D. = EDGE DISTANCE
(SEE SCHEDULE ON

SHEETS 7 & 8 OF 12)

POURED

CONCRETE

OR CONCRETE ————
BLOCK WALL -
REQUIRED

I
I
!
|
I
I
I
I
I
|
I
I
I
I
|
|
|
I
|
|
I
I
I
I

. PANEL LENGTH (SEE SCHEDULE)

Ma;

TAPCON OR
CALK~IN ANCHORS
STAGGERED TO STUDS
(SEE SCHEDULE

FOR SPACING)

NOTE FOR COMBINATION OF SECTIONS :

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE

COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

n

7/8" 0 x 3/32"

WING NUT @ EVERY

CONT.

STUD @ 12" O, C.

BUILD—-QUT/WALL MOUNTING ~ SECTION 9

SCALE: 3/8" = 1

TAFCON OR
CALK~IN ANCHORS
(SEE SCHEDULE
FOR SPACING)

POURED

CONCRETE
REQUIRED

/

CONT,

]

v

SEE SCHEDULE
FOR Min.
SEPARATION
TO EXISTING GLASS

ONT.

e e e

L EVERY STUD
/I @ 120 C
|

. PANEL LENGTH (SEE SCHEDULF)

Mo

—@

7/8"8 x 3/32"
WING NUT @

ALTERNATE IF —
APPLICABLE i 5
X- ! | 18]
1 Q
AN - - T -
| 4
/LJ /I.
POURED " _
CONCRETE £ D.
REQUIRED -3

TAPCON OF
CALK=IN ANCHORS
'SEE SCHEDULE
OR SPACING,)

WALL/FLOOR MOUNTING

e,
6°x6" HOLE MAX.
b3 /2 e ~CUT OFF THIS
CORNER
i O} = = o Of o = o for
45
2 i
g
> & / N\
I
&=
g )
] (4]
~ ]
~
S
g
$
I & 0] o 0] [ Ol (= O] O] =
66" HOLE MAX. | | 4 3/ 2
CUT OFF AT MIDDLE
OF PANEL +
1) e
66" HOLE MAX.
CUT OFF THIS i
CORNER * —\fs p3/2
’ lI \ O o 0] o O ol 0l o] I oy
a
!
.I .
[ / \ 8
1
. E '
g N
ot \ 7
g T8
. W
g
= =l o bl = | {0 1= | \e] &l o =

SCALE: 3/8" = 1"

* NOTCHES ON END FANELS CAN ONLY BE
AS SHOWN W/ ONE NOTCH MAX. PER PANEL

PRODUCT RENEWED

as comxplying with the Florkin

Buiding Code

Acceptance No08-0527-08

Expiration Date

By A
Miami Dade act
Division

ot

F.B.C. (High Velocity Hurricane Zone)

6'x6" HOLE MAX.
CUT OFF AT MIDDLE
OF PANEL *

5 DRAWN BY:

0.0365" THICK STEEL STORM PANEL oy,

9/22/05
/ |||_ I ECO \ ALUFAB HURRICANE SHUTTERS, INC.| o
c. 13000 NW 38th AVE.
TILLIT TESTING & ENGINEERING COMPANY OPA~LOCKA, FLORIDA 33054 05~147
6355 MW, J6th St Ste. JOS5, VIRGINIA GARDENS, F. 33166 PH:(305)681-4701, FAX:(305)681-4604
Phone : (305)871-1530" . Fox : (305)871~1531 DRAWING M
EB-00086719 REV. NO DESCRIPTION DATE | REV. Mo DESCRIPTION DATE °
WALTER A. TILLIT Jr., P. E, ! OLD 01-045 9/22/05] J - -
FLORIDA Lic, 44167 Z - - 3 = T SHEET 4 OF 12




CALK~IN ANCHORS — CALK—-IN ANCHORS
SEE SCHEDULE £ D
' CALK~IN ANCHORS ( . STAGGERED TO STUDS CONT.
g:f;c(‘g,/\;\/ ?47\15[-/05!5 gﬁiﬁll\;\/ OA,;\ICHORS (SEE SCHEDULE P %EQ’T FOR SPACING) \ (—1.000 (SEE SCHEDULE CONT CALK—IN ANCHORS INTERNAL REMOVABLE PANEL
(SEE SCHEDULE (SEE SCHEDULE FOR SPACING) £ D—— CONCTE —\ FOR SPACING) , - GALK=IN ANCHORS (SE/’:{%LZ_%?L; sgéﬁmm
FOR SPACING) FOR SPACING) 'g g E —1.000" | ﬁ% (SEE SCHEDULE o @ oR d THRU 1/2"8
S ] . REQUIRED _\ . - FOR SPACING) HOLES @ 6™ 0.C & FASTENED
NE pouren TEfl— N3 T 47 REAR W/7/8'8:3/32" WING
PO | T @ EVERY SIDEWALK LT,
CONeRRre \—1 CONCRE, —1 . £QU POURED : g ERY. S
REQUIRED [2 TE CONCRETE
REQUIRED | O GONGRETE BLoGNAT
) y o CONT, W,/REMOVED REQUIRED g ) REQUIRED &
corT STUDS, REPLACED ‘ L 2/8" & x 3/32 y
! N ~ W/1/2" @ HOLES L WING NUT & EVERY
e S © & 0.C.(SEE STUD @ 12" 0. C.
DETAIL 2 THIS SHEET)
iy
Yy - 7/8" & x 3/32" L
2 4 WING NUT @ EvERY 8 A 5
8 STUD ® 12" 0. C. S g
g s 2 @) or- 2
- - ]
¥ § g =
W d Q
; : : o ®
g a LD L by iy CONT, —
8 & o o 3 ‘ . =2
g EXISTING g g < g —DETAL 2 S
EXISTING 8 BLASS g f 8 S 2 12" 3 2
GLASS i = i g — ] @ 3
a i vV— ¥ 2 3 i &
% AN & Q @ 2 1/2"— o o g
£ 2 1/2" . < A\ A1 % g hy
—2 t/2"— € § 3 v v/ & N g 2 1/2"— z
d ) —2 1/ g \ § " - g
z = EXISTING . g 4
[ . [} GLASS o g g
" S | —DETAIL 2 Z - iy f— s
$ § A —t § &
N - —V/ A— § X .
e n [ — 3 o DETAIL 2 EXISTING pY \ §
CONCRETE , EXISTNG
OR GCONCRETE //® N exsng o - oLAss 6LASS py
BLOCK WALL [ GLASS
REQUIRED o
o 8
= 7/8" @ x 3/32"
T~ @ or @ i v & e
or CONT. STUD @ 6" 0. C CONT. W/REMOVED
a o 72/8" @ x 3/32" STUDS, REPLACED L DETAL 2
; POURED L WING NUT @ EVERY . " €8 W/1/2" 8 HOLES
u CONCRETE ONT. STuD ¢ 8* 0. ¢ 7/8" @ x 3/12 @ 6" 0.0.(SFE
CONT. T CONT. WING NUT @ EVERY CONT. -G
OR CONCRETE . ST e & o ¢ DETAIL 2 THIS SHEET) .
BLOCK WALL ® Lo N 8
r::::}_}o REQUIRED Y 8 8 g
N Ll el - ~i - -
/ | / ) g ; S
! ; T HJ
(CA,_K—,N ANCHORS @ @ .8 /N/rERNAL REMOVABL.‘.; PANEL @) y AV /f */ 41{/ //
SEE SCHEDULE FOR SPACING) CALK~IN ANCHORS / & W/SIDEWALK BOLTS (SEE_DETAL 2 _/ iF POURED /
y - CONNECTED T0 (1) OF THRU v POURED POURED " CONCRETE \1.000"
(SEE SCHEDULE FOR SPACING) 172" HOLES AT (D) ORI © POURED. - 1.000 CONCRETE 1 000" POLRED. .. 1,000 CONCRETE 1.000
REQUIRED REQUIRED REQUIRED
£* 0.C & FASTENED AT REAR @ £ D— E D B DT KeN ANCHORS £ D
W/7/8"8x3/32" WING NUT @ CALK~IN ANCHORS CALK~IN ANCHORS . TERNAL REMOVABLE PANEL
§£Q Z /QN 11A 11 ¥ Fleky sDEwALK BOLT (SEE SCHEDULE FOR SPACING) (SEE SCHEDULE FOR SPACING) INTERNAL REMOVABLE PANEL (D) (SEE SCHEDULE FOR SPACING) W/SIDEWALK BOLTS
W/SIDEWALK BOLTS (SEE_DRETAIL 2) CALK~IN ANCHORS (SEE_DETAIL 2) CONNECTED
W T / /0 CONNECTED TO () @OR THRU (SEE SCHEDULE FOR SPACING) 70 €B THRU 1/2"8
1/2"8 HOLES AT QD) OR (1} © HOLES @ 6" O.C & FASTENED
6" 0.C & FASTENED AT REAR AT REAR W/7/8"0x3/32" WING
SECTIONS 11 £ D. = EDGE DISTANCE SECTION 12A SECTION 12B * w/7/s"ex3/32" wne nur @ NUT © EVERY SIDEWALK BOLT.
PR— (SEE SCHEDULE ON EVERY SIDEWALK BOLT.
SCALE: 1/4" = 1 SHEETS 7 & & OF 12) PRODUCT SECHQN Z ZA
1/4"0x1" S.5. SIDEWALK as complylag with the Florigy w. 0
BOLTS, W/3/4" SLOTTED HEAD, Buiding WALL MOUNTING INSTALLATIONS
FIXEg g% INTERNAL REMOVABLE Acceptance No
" PANEL THRU KEY HOLE -] INTERNAL
VNG NUTS 094"~ Co 8" 0.C. W/WASHERED WING REMOVABLE _SE_QZLQN_$__LZ - Expiration Detyo SECTIONS 1
WHOSE WINGS H ~-.083 NUTS AT REAR WHOSE WINGS PANEL SCALE: 1/4" = 1 SCALE: 1/4" = 1"
HAVE BEEN 1 HAVE' BEEN BROKEN OFF. (VALID ONLY FOR UP TO +60.0, —66.0 p.s.f. PRESSURE RATING) By A
BROKEN OFF —\ Mismi Dade Rfaluct Control
BVisy,
X INSTALLATIONS VALID ONLY FOR REGULAR 20"“CAGE STEEL PANELS
A\
N
 EEE——
o f sgu USED JOINTLY WITH 20 GAGE STEEL INTERNAL REMOVABLE PANEL
3 §M::: F.B.C. (High Velocity Hurricane Zone)
T e
” DRAWN BY:
J av 0.0365" THICK STEEL STORM PANEL .
L/
875 -l - 9,/22/05
NOTE FOR COMBINATION OF SECTIONS * Norr ILIEC O inc ALUFAB HURRICANE SHUTTERS, INC. DATE
VARIES—~! KEY HOLE ® 6" O.C. INTERNAL REMOVABLE PANELS SHOWN — ! 13000 NW 38th AVE.
CRereNa T 1t 5 T3 G e Cowed QN SECIONS 118, 128 & 138 erwEEN e " &~ | TILIT TESTING & ENGINEERING COMPANY prise g Gk, FLORIDA T8 sos 05—147
LETAIL 2 — INSTALLATION OF 1/4"x1” /N ANY WAY TO SUIT ANY INSTALLATION. REGULAR PANELS MOUNTED AS SHOWN g oo |35 N 30t0, b, Sle. 05 VIEOINIA CARDENS, 272190 ‘ A DRAWING No
WB_LREMQYAELLEANEL ON SECTIONS 11A, 124 & 13A ML S /05’ EB~-0006719 REV. NO DESCRIPTION oATE | REV. Mo DESCRIPTION DATE
- WALTER A, TILLIT Jr., P. E. ! oD 01045 |9/22/05 4 Z — | SHEET 5 oOF 12
SCALE: 17 = 1 FLORIDA Lic 44167 Z - - 1 = =




CONCRETE ANCHORS
(SEE SCHEDULE)

POURED CONCRETE
OR CONCRETE
BLOCK WALL

REQUIRED ——\

TUBE MULLION
(B063-T6 ALLOY)

[ : T 3
! | l
| I | Cont,
: | |
| | f
| | !
| [ o)
| | | 3
‘ | I 3
| | | o
1 A\ : 5% g
I /\/ ] V hy
| SEE SCHEDULE | | &
FOR Min. __| 2
I~ seParaTioN 10| | 7/8% x 3/32% g
EXISTING GLASS | WG nuT @ i
—— EVERY STUD e
l | e 12°0c 5
: I 2" x 4" OR ¥
I 2% % 6% x 125" 3
| |  HomizonTAL Alum.
| [
|
[
I
|

TOTAL MOUNTING HEIGHT "H™
(Max. 16°—~07)

be——2 000

Cont.

6

Mox. PANEL LENGTH (SEE SCHEDULE)

7/8'8 x 3/32"
T WING NUT @

|
l
| EVERY STUD
| @ 12" 0.
|
|
[
| g
I ..: {1} ul
/ A
-
POURED CONCRETE lil CONCRETE
OR CONCRETE —1"—t)  ANCHORS
BLOCK WALL (SEE SCHEDULE)
REQUIRED E D

ALTERNATIVE 1
SPLIT PANEL MOUNTING INSTALLATION

= SECTION 14

NOTE !
FLOOR & CEILING MOUNT INSTALLATIONS SHOWN. FOR
DIFFERENT MOUNTING INSTALLATIONS SEE TYFICAL

SECTIONS ON SHEET 2, 3 & 4 OF 12.

SCALE: 3/8" = 1°

CONCRETE 000" 4,000" 000" MULLION TUBE —j(
ANCHORS _~— EDGE OF EXISTNG , .,
(SEE SCHEDULE) WALL T 51
.8 4.500" %
/ 2) 3/8" @ THRU o
\ f o O - gD)LTS/ W/ WASHER f-"‘f"@ Ny
POURED -—E_;: _ g3 & NUT z
CONCRETE u N TP N | SRR PR e et T o e e ] e ]
REQUIRED _t I / . = ! =3 S
(— T f 5
& ' ‘ e J} R —————— - 2
" | | Cont. 3 % : Ok 2" x 4% 0R 2% x 6 ] N
I I b ' O x 125" HORIZONTAL g
| I & AN TUBE MULLION E
i I W (6063~T6 ALLOY) b
Lu " Ll "
T | |,__,® e 000" £.000" .000] 27 x 2" x 1/4 o MULLION LENGTH ——\
! I ! z O na s faam. ANOLE MEASURED TO CENTER LINE OF ANGLES
SEE SCHEDULE I g (6063~T6 ALLOY)
| ""ror Min. | ! | g {Tvp. TOP & BOTTOM) TY, SPLIT PAN
SEPARATION T0 ;
e A | g HORIZONTAL TUBE MULLION = &z "o/, 2ors V.
in. PENETRATION INTO
| | | g CONNECTION TO WALL prame ol U U
| | | 3 SCALE: 1/4" = 1° GROUT FILLED BLOCK N T. S
= ' ” »
N BN 1 MAXIMUM DESIGN PRESSURE RATING "W” (p.s.f.) AND
1 ”»y n
o CORRESPONDING MAXIMUM REGULAR PANEL LENGTH "L” SCHEDULE
ont. Se——
Typ. SECTION 14
MAX’MUgED;f;,GAé Max. P’LW"(‘-,L, )LENGTH MINIMUM SEPARATION PANEL AZ’,?,LD’Cfﬁ@E cg‘,’,,gﬁg;,’g,’d #
PRESSL: N : 70 GLASS CONDITION OF THEM
ALTERNATIV [ [9) W (p.s.t.) (SEE SECTIONS)
+55.5, —66.0 9'~0" OR LESS 2 3/4" UNBOLTED EXC‘EPTT’;}Z%T/BON 3
+35.0, —-55.0 >9'-0" 10 12'-8" 2 5/8" BOLTED * 1 THRU 8
+68.0, —72.0 6'-0" OR LESS 2" UNBOLTED 1, 2, & 7
M U LON SPAN (H I TA LY +60.0, —72.0 9'-0" OR LESS 2 13/18" UNBOLTED 3
+60.0, -72.0 9'-0" OR LESS 2 5/18" UNBOLTED 8
MAXIMUM TOTAL MOUNTING HEIGHT “H" 2'x4" TUBE
DESIGN +50.0, —-60.0 11'-0" OR LESS 2 UNBOLTED 10
LOAD 2"x6" TUBE
W lpst)| <1070 (IO RN IECH e T < MAXIMUM_DESIGN PRESSURE RATING "W” (p.s.f.) AND
i 9,
7'-0" 6'-7" 6'-3" 6'-0" CORRESPONDING MAXIMUM INT. REMOVABLE PANEL LENGTH "L~ SCHEDULE
50
911" 9-3" 8-7" 8'-0" +60.0, —72.0 9'-0" OR LESS 2 1/2" UNBOLTED 11
60 6-7" 6'-3" 5-11" 5'-6" +60.0, ~72.0 9'-0" OR LESS 2 1/4" UNBOLTED 12
9'-3 8'-5" 7'=10 7-4 +60.0, —72.0 9'-0" OR LESS 2 1/2" UNBOLTED 13
6'—-4” 51_77” 51_7" 51—3"
66 * BOLTED W/ 1/4" 8~20 S. S. M. S. & WINGNUT AT OVERLAF &
s an . . s . MIDLENGTH OF PANEL.
8'~10 8'~1 at) 7'=0
PRODUCT RENEWED
as eompiying with the Florida
Division
F.B.C. (High Velocity Hurricane Zone)
E D. = EDGE DISTANCE " DRAWN BY:
0.0365" THICK STEEL STORM PANEL AV,
(SEE SCHEDULE ON
SHEETS 7 & 8 OF 12) 9/22/05
l"_ I E cCO ALUFAB HURRICANE SHUTTERS, INC. DATE
INC. 13000 NW JBth AVE.
(D —— TILLIT TESTING & ENGINEERING COMPANY OPA-LOCKA, FLORIDA 33054 05— 147
‘—z::@\:% 6355 N.W. 36th, St, Ste. JO5, VIRGINIA GARDENS, Fl_ 33166} PH:(305)681~4701, FAX:(305)681~4604
S Phone : (305/871=1530'. Fox : (305)871=1531 DRAWING No
6,?/2 3 / o a EB-00Q6719 REV. N0 DESCRIFTION DATE | REV. Mo DESCRIPTION pATE
- S ALTER A. TILLIT Jr., P. E. : oD o1-0t5 |e/23/0 3 p
A o Lig, 15167 " ~ - - —— SHEET 6 OF 12




MAXIMUM DESIGN PRESSURE RATING “W” (p.s.f.) AND CORRESPONDING MAXIMUM ANCHOR

SPACING SCHEDULE FOR INSTALLATIONS INTO CONCRETE AND MASONRY STRUCTURES *

DEAS“?GXI:IMLLMOJAD TAPCONS MAXITAALAZNziTS T D.C : L Asl;g%gﬁ;ﬁ]g MAXIMUM, PANEL
Wpst) I CONCRETE| T0 MASONRY | T CONCRETE| To MaSONRY | 70 CONCRE:EK T:/)v masoney | To CONC’:ZVI'ELM:;E:MSONRY e 5ﬁ“§5’£5""” LENGTH L7 ()
12" N/A 12" N/A 12" N/A 12" N/A 1 (TOP)
12" 3" 12" 1 12" 10" 12" 12" 1 (BOTTOM)
12" N/A 12" N/A 12* N/A 12" N/A 2 (ToP)
12" g" 12" 1* 12" 10" 12" 12* 2 (BOTTOM)
N/A N/A N/A N/A 12* 10" 12" 12" 3 (TOP/BOTTOM)
6" N/A 6" N/A 6" N/A 6" N/A 4 (TOP)
6" & &" 6" 6" 6" 6" 6" 4 (BOTTOM)
+55.5, —66.0 6" N/A 6" N/A 6" N/A £" N/A 5 (T0P) 8'-0" OR LESS

10 1/2" N/A 7" N/A 8 1/2" N/A 7" N/A 5 (BOTTOM)
8" N/A 6" N/A 6" N/A 6" N/A & (TOP)
6" & 6" 6" 6" 6" 6" 8" 6 (BOTTOM)
12" N/A 12" N/A 12" N/A 12" N/A 7 (ToP)
8" &" 8" 7" 8" 8" 8" 8" 7 (BOTTOM)
N/A N/A N/A N/A 12* 10" 12" 12" 8 (TOP)

10 1/2" N/A 7" N/A 8 1/2" N/A 7" N/A & (BOTTOM)
N/A N/A N/A N/A 12" 6" N/A N/A 3 (T0P)
N/A N/A N/A N/A 12" 8" N/A N/A 3 (BOTTOM)
12" 7 1/2" N/A N/A 12* 8" N/A N/A 9 (TOP)
12" 7 1/2" N/A N/A 12" 8" N/A N/A 9 (BOTTOM)

10 1/2" N/A . N/A N/A 10 1/2" N/A N/A N/A 11A (TOP)
N/A N/A N/A N/A 12" 6" N/A N/A 114 (BOTTOM)

10 1/2" N/A N/A N/A 10 1/2" N/A N/A N/A 118 (TOP)

+60.0, —72.0{ NA N/A N/A N/A " 6" N/A N/A 118 (BOTTOM) | 9'-0" OR LESS

N/A N/A N/A N/A 2 1/2" + N/A N/A N/A 124 (TOP)
N/A N/A N/A N/A 7 N/A N/A N/A 124 (BOTTOM)
N/A N/A N/A N/A 2 1/2" ¥ N/A N/A N/A 128 (TOP)
N/A N/A N/A N/A 2 1/2" + N/A N/A N/A 128 (BOTTOM)
N/A N/A N/A N/A 12" 8" N/A N/A 134 (TOR)
N/A N/A N/A N/A 7" N/A NA | N/A 13A (BOTTOM)
N/A N/A N/A N/A &" &" N/A N/A 138 (TOP)
N/A N/A N/A N/A 7" N/A N/A N/A 138 (BOTTOM)

+ ANCHORS SPACING ONLY VALID UP TO +60.0,~66.0 p.s.f. PRESSURE RATING

, = FEDGE DISTANCE

XK SEE SHEET 9, 10, 11 & 12 OF 12 FOR ANCHORS TYPE &
SPACING FOR INSTALLATIONS INTO WOOD FRAME BUILDINGS.

KK MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2" EDGE
DISTANCE, FOR E. D. LESS THAN 3 1/2°, REDUCE ANCHOR
SPACING BY MULTIPLYING SPACING SHOWN ON SCHEDULE
BY THE FOLLOWING FACTORS. (NOTE : Min. £ D. FOR CALK—IN
ANCHORS IS 2 1/2"). FOR THIS OPERATION TO BE POSSIBLE,
REDUCED SPACING OBTAINED USING FACTOR SHALL NOT BE
LESS THAN MINIMUM SPACING INDICATED FOR EACH ANCHOR

TYPE AT ANCHORS LEGEND. ANCHORS LEGEND
FACTOR ANCHORS ANCHOR
ACTUAL E. D. TYPE SPACING
TAPCON/ZAMAC NAILIN/ CALK—IN
PANELMATES TAPCON 3.0"
ZAMAC NALILIN 3.0"
3" .86 75 CALK=IN 2.5"
" PANELMATES 3.0"
2 1/2 71 .50
2" .50 -
PRODUCT RENEWED
as complying with the Floride
Buiding Code
Acceptance N 08’05-?*7' o8
Expiration Date o9
By, .
Miami Control
Division

F.B.C. {High Velocity Hurricane Zone)

- ~ 4

DRAWN BY:

0.0365" THICK STEEL STORM PANEL e

9/22/05
/ liLtleEco . \ ALUFAB HURRICANE SHUTTERS, INC.| "o
4 13000 NW 38th AVE.
TILLIT TESTING & ENGINEERING COMPANY OFRA—-LOCKA, FLORIDA 33054 05-147
6355 NW. 36th, St, Ste. 305, VIRCINIA GARDENS, Fl. 33166 PH:(305)681-4701, FAX:(305)681-4604
Fhona : (305/871-1330" . Fax : (305)871-1531 DRAWING No
EB-0006719 REV, NO DESCRIPTION oATE | REV. Mo DESCRIPTION DATE
WALTER A. TILLIT Jr,, P. E. 1 OLD 017045 19/23/08 & = = SHEET 7 OF 12

LLORIDA Lic, 44167




MAXIMUM DESIGN PRESSURE RATING "W” (p.s.f.) AND CORRESPONDING MAXIMUM ANCHOR

SPACING SCHEDULE FOR INSTALLATIONS INTO CONCRETE AND MASONRY STRUCTURES *

MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2"

APPLICABLE TO

A

MAXIMUM
DESIGN LOAD 7 - SECTIONS # & MAXIMUM PANEL _
W (p.s.f) APCONS ZAUAC NALIN CALK=IN PANELMATES ANY COMBINATION | LENGTH 'L" (ft.) E. D. = EDGE DISTANCE
TO CONCRETE| TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE| TD MASONRY | TO CONCRETE | TO MASONRY OF THEM
12" N/A 8 1/2" N/A 12" N/A 8" N/A 1 (TOP)
12” 8" 11 1/2" 9 1/2" 12* 8 1/2" 1" 10 172" 1 (BOTTOM)
12" N/A 8 1/2" N/A 12” N/A 8" N/A 2 (ToP)
12" 8" 11 1/2" g 1/2" 12” 8 1/2" 11" 10 1/2" 2 (BOTTOM)
N/A N/A N/A N/A 12" 6" 6" g" 3 (ToP/BOTTOM)
6" N/A 6" N/A 6" N/A 6" N/A 4 (TOP)
6" 6" &" &" 6" 6" &" 6" 4 (BOTTOM) sk SEE SHEET 8, 10, 11 & 12 OF 12 FOR ANCHORS TYFE &
55 560 - SPACING FOR INSTALLATIONS INTO WOOD FRAME BUILDINGS.
+ .5, —_ ) » ”n n 1 " ’ "
é N/A 6 N/A 6 N/A 6 N/A 5 (T0P) >8'-0" 10 9'-0 % 3K MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2" EDCE
» R " - DISTANCE. FOR E. D. LESS THAN 3 1/2° REDUCE ANCHOR
9 1/2 N/A 6 N/A 7 1/2 N/A 6 N/A § (BOTTOM) SPACING BY MULTIPLYING SPACING SHOWN ON SCHEDULE
BY THE FOLLOWING FACTORS. (NOTE : Min. E. D. FOR CALK—IN
" » " " ANCHORS IS 2 1/2%). FOR THIS OPERATION TO BE POSSIBLE.
6 N/A 6 N/A 6 N/A 6 N/A 6 (TOF) R GG aTANeD VO FACTOR SHALL NOT BE
- - . - , LESS THAN MINIMUM SPACING INDICATED FOR EACH ANCHOR
6 6 6 6 6" 6" 6" 6" 6 (BOTTOM) TYFE AT ANCHORS LEGEND.
12" N/A 8 1/2" N/A 12" N/A 8" N/A 7 (TOP) FACTOR
» L4 " " " » u ”» ACTUAL E. D.
8 51/2 8 6 1/2 8 6 1/2 7 1/2 7 1/2 7 (BOTTOM) TAPCON/ZAMAC NAILIN/| CALK~IN
: PANELMATES
N/A N/A N/A N/A 12" 6" 6" 6" 8 (ToF)
" " " J” .86 .75
9 1/2 N/A 6 N/A 7 1/2 N/A 6" N/A 8 (BOTTOM)
X " » n » ” » ” " 21 2" 21 .50
6 6 6 6 6 6 6 6 8 (ToP) /
+35.0, -55.0 ) - >9'-0" 10 12'-8"
6 N/A 5 1/2 N/A 6" N/A 5" N/A 8 (BOTTOM) 2" .50 -
12" N/A 12" N/A 12" N/A 12" N/A 1 (TOP)
72" 94: 72» 77:; 72:: 72» 72” 72» 1 (BO]TOM)
12" N/A 12" N/A 12" N/A 12* N/A 2 (ToP)
+68.0, —72.0 12" " 12" 1" 12" 12" 12" 12" 2 (BOTTOM) 6'-0" OR LESS
N/A N/A N/A N/A 12" 12" 12" 12" 3 (TOP/BOTTOM)
12" N/A 12" N/A 12" N/A 12" N/A 7 (TOP)
8" 6" 8" 7" 8" 8" 8" 8" 7 (BOTTOM) PRODUCT RENEWED
,, " fyimg with the Florida
10 N/A N/A N/A 9 1/2 N/A N/A N/A 10 (TOP) as comp
+50.0, -60.0 - / 77’_0" OR LESS Bu!dlgCode
8 1/2 N/A N/A N/A 7" N/A N/A N/A 10 (BOTTOM)

ANCHORS. LEGEND
ANCHORS m’ﬁ"’m
TYPE SPACING
TAPCON 3.0
ZAMAC NAILIN 3.0"
CALK—IN 2.5"
PANELMATES 30"

F.B.C. (High Velocity Hurricane Zone)

EB-0006719

WALTER A. TILLIT Jr, P. E.
FLORIDA Lic. 44167

0.0365" THICK STEEL STORM PANEL | PM0nF"
9/22/05
/ ILIECO \ ALUFAB HURRICANE SHUTTERS, INC. DATE
INC. 13000 NW J38th AVE.
TILLIT TESTING & ENGINEERING COMPANY OPA—~LOCKA, FLORIDA 33054 05—-147
6355 N.W, 36th, St Ste. JO5, VIRGINIA GARDENS, . 33166] PH:(305)681-4701, FAX:(305)681~-4604
Phone : (305/871~1530 . Fox : (305)871~1531 DRAWING No

REV. NO

DESCRIPTION

DATE

REV. No

DESCRIPTION

BATE

!

OLD 01045

8/22/03)

J -

2

4 —

SHEET 8 OF 12




438° 0. D x 632" LONG BRASS
BUSHING W/ 1/4" 6~20 x 2° &, &.
1/4' LAG SCREWS @ 6" 0. C. W/ \/L % x
1 1/2" Min, THREADED PENETRATION

\)L - TO EXISTING WOOD MEADER.

LR
A

M. S @60 C OR 1/4" ¢-20

1/4" LAG SCREWS @ 6" 0. C. W/ [-ELCO male/femole PANELMATE ©
6“0. C. W,

1 1/2" Min. THREADED PENETRATION
TO EXISTING WOOD HEADER,

. G ! 7/8" PENETRATION
TO EXISTING WOOD HEADER.

1/4" 0=20 MACHINE BOLT W/
rNUT & WASHER © 6" 0. C.

500"

L}
7 e x
Min. § 3
=

SEPARATION TO

| i EXISTING /\/GLASS /\/__1
i ALTERNATIVE 3

///®
{ I _j ] Cont,
— e o Yy
%? [ \ Cont. l d I
— 7 l REQuin | HEADER
FEQUIRED REQUIRED |
roooma | i _V ser scnepuie : | “@
SEE SCHEDULE
f-_

SEE SCHEDULE
—FOR Min. SEPARATION—
TO EXISTING GLASS

FOR Min.
SEPARATION TO
EXISTING GLASS

T .
]

A

\d

PANEL LENGTH (SEE NOTES)

|
|
|
|
| |} FOR Min.
|
|
|
|
|

Max. PANEL LENGTH (SEE NOTES)

I
A A
: I 4 | V1
A I ] SEE SoHEDuLE | I v o I §
0 0R Min. l $
2w T | SEPARATION 10 |.SEEF§,§ riaalit . | i
ALTERNATIVE 1 EXISTING GLASS —® s 1o | ] a2 ss st |
| | | 2" x 4" PLATE | Exsve Gass | | 78" 6 x 4 /_,2/ Woap PLATE
7/8" ¢ x 3/32" REQUIRED : | _vime NUT '@ 12* 0. ¢ / |
! | b~ WING NUT @ EVERY | » I l
v [TV STUD @ 12" 0. ¢ K :
| STAGGERED 10 1/4% ‘ |
- g | ve screw -
| | g g | O
o
SEE SCHEDULE o g
FOR Min, I ‘\@ s o
ad %EPAR@I]’!OZ - [ ' Cant. 5 b
EXISTIN Cont.
6LASS B 1/4% LAG SCREWS © 6” 0, C. Wy 436" 0. D. x .632" LONG BRASS
2% x 4" PLATE, 7 1/2" Min. THREADED FENETRATION . Y BUSHING W/ 1/4" #-20 x 2" s. s.
REQUIRED [ | © MIDWIDTH OF PLATE. 1/4"0 LAG SCREWS @ 6" 0. C. W/ M S © 6”0 C OR 1/4" ¢~20
B 1 1/2" Min. THREADED PENETRATION ELCO male/fermale PANELMATE ©
@ MIDWIDTH OF PLATE, 6" 0. C. W/ 1 7/8" PENETRATION
_ l ; | TO EXISTING WOOD PLATE.
ol ALTERNATIVE 5
A SEE ELEVATIONS ON
g 3 Cont SHEET 72 OF 12 FOR
8 ont. SPECIAL CONDITONS
\\\\ 9 CASE 1 AND CASE 2
\\\ 5)e 12°0. ¢
1/4°8 LAG SCREWS @ 6" 0, C. W/
1 1/2" Min. THREADED PENETRATION
b TO EXISTING WOOD HEADER.
WooD STUD :
@ 24" 0. C. PRODUCT RENEWED
REQUIRED O T O D S as complying with the Flprida
NS JALLA Z ZQI! Qé ZA!Lé N EZ[& INQ k! Q EQ“ l?_ﬂ!ﬁ Buiding Code
ALTERNATIVE 2 ! Accepiance No 08 -0 5 27- 04
Explegtion Dete oq
By .
Plismi Dade uct Ceatrol
Division
NOTES: NOTE FOR_COMBINATION OF SECTIONS: . .
7. INSTALLATIONS ARE VALID ONLY FOR BUILDINGS WITH DESIGN LOADS UP F.B.C. (High Velocity Hurricane Zone)
= WALL MOUNTING SECTIONS CAN BE COMBINED
TO 66.0 psf AND PANEL LENGTHS UP TO §'-0" AND FOR 72.0 psf DESIGN IN ANY WAY TO SUIT ANY INSTALLATION.
LOADS AND PANEL LENGTHS UP TO 6'-0" VALID FOR ALL ALTERNATIVES ' 0.0365" THICK STEEL STORM PANEL DRAWN 8Y:
SHOWN ON THIS SHEET, EXCEPT ALTERNATIVE # 1 WHICH IS VALID FOR ‘ A
DESIGN LOADS UP TO 86.0 psf AND PANEL LENGTH UP TO §'-0" : oy22/05
ADDITIONALLY ALTERNATIVE #6 IS VALID FOR UP TO 9'~0" MAX. PANEL
LENGTH AND 72.0 psf DESIGN LOAD. '"_ I E C O inc ALUFAB HURRICANE SHUTTERS, INC. DATE
: 13006 NW 38th AVE.
2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN %_Q_ —— T TILLIT TESTING & ENGINEERING COMPANY OPA—LOCKA, FLORIDA 33054 05—147
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. R ] 8355 N.W. J6th, St, Ste. J0S5, VIRGINIA GARDENS, A1. 33186] FH:(305)681~4701, FAX:(305)681~4604
Fhone ¢ (305J871~1830 . Fex : (305)871-15831 DRAWING Na
e / z > / N EB~-0006719 #EY. MO DESCRIPTION 2ATE | AEV. Mo DESCRIFTION DATE
T = WALTER A. TWLIT Jr, P. E. 1 oD 01-05___ (9722708 3 = =
FLORIDA Lic, 44167 P - B - = —_| SHEET S oF 12




t \
g .
| ‘i
1 |
f
Rt
“ ~woop pLATE
“ REOUIRED
e
A .
1

TERNATIV.
ANC OCATION

SCALE: 1/4" = 1"
NOTE : SHUTTER TRACKS NOT SHOWN FOR CLARITY

NOTE_FOR COMBINATION OF SECTIONS:

FLOOR/ WALL/ CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

NOTES:
1. INSTALLATIONS ARE ONLY VALID FOR BUILDINGS WITH DESIGN LOADS UP
TO 66 psf AND PANEL LENGTHS UP TO §'-0"

2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

WQOD TRUSSES OR RAFTER
@ 24" 0. C. REQUIRED

_\

777777 T AT AT 7 77 77

I T 1" 4" x 1/8* (Min.
I 5 6063-T6) Alum. TUBE
_J / W/ () 5/16" #
500" R 00" LAG 'SCREWS TO EACH
" JOIST. LOCATE SCREW
LR AN ’_/ NF \®00Nr AT MIDWITH OF EXISTING
e n \ WOOD MEMBER.

(2* Min. NOMINAL WIDTH)

D W/ 2" Min. THREADED

[ PENETRATION.
S
Wy
]
A 4] 2
— s A E
SEE SCHEDULE ]
-—  FOR Min, —— v
SEPARATION TO /@ =~
EXISTING GLASS cz.‘.
b

Max

|

|

l

f

L7/8" 8 x 3/32"
/—‘ WING NUT ©

( : JeonT 1

ALTERNATE IF | &5 STl 2" x 6"
APPLICABLE , L wooD DECK
) : _ 'REQUIRED

\ EDGE OF WOOD

AS AFPPLICABLE

Ly \
1/4'0 LAG SCREWS © 4 1/2" 0. C. W/
1 1/2" Min. THREADED PENETRATION
TO EXISTING WOOD DECK

ALTERNATIVE 1

FLOOR/CEILING MOUNTING INSTALLATIONS

SCALE: 1/4" = 1"

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

PRODUCT RENEWED

as complying with the Florida —

Baiding Code — -]003. |5
Actepmnce NoOH~05 27 0 8 o 2 € j of
Exp 0 q :

By 4 (o Prlins Contgol

Piiami :

Eivision

F.B.C. (High Velocity Hurricane Zone)

0.0365" THICK STEEL STORM PANEL DRaun BY:

/ I".IE CcCoO lNc.\
NN ' TILLIT TESTING & ENGINEERING COMPANY
‘% J6355 NW. J6th, Si, Ste. JO0S, VIRGINIA GARDENS, Fl. 33166

Phone : (JO5}577-I530 . Fox ! (305)871-1531

— - £B-0006719
w7z B/z:xy/‘ WALTER A. TILLIT Jr., P. E.

FLORIDA Lic, 44167

$/22/05

ALUFAB HURRICANE SHUTTERS, INC. DATE

13000 Nw J8th AVE.

OPA-LOCKA, FLORIDA 33054 05— 147
{ PH:(305)681~4701, FAX:(305)681~4604
REV. NO DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING No
= 8/22/04 - -
- L N U7 . - — SHEET 10 OF 12




=

1/4"¢ LAG SCREWS @ 6" 0, C. W/
1 1/2" Min. THREADED PENETRATION
TO EXISTING WOOD HEADER.

.

fy

s
N
{

.7"’.
y_d

L) N
Q
83

L%

N
Py

WO0D HEADER

| REQURED

- seE_scrEDULE -

\ " FOR in.

| SEPARATION TO
EXISTING GLASS

E0— — £Q

/,@ Cont,
—®

&
L

|
_<h [‘%
[
L™ Max. PANEL LENGTH (SEE NOTES).

o 1/4" 8-20 ELCO

o MALE/FEMALE PANELMATE
M @6 0c W1 78"
PENETRATION TO EXISTING
WOOD PLATE.

1/4°8 LAG SCREWS @ 6" 0. C. W/
1 1/2" Min. THREADED PENETRATION
TO EXISTING WOOD HEADER,

T
= :—L N3
- |
: I 1
f 1
Al
. .
N N | Cont.
t‘ { z |r/®
- 1
‘, O
| WooD HEADER | | ]
| REQUIRED il :
! - @
! |1 |5
! i | 2
V_seE scHEDULE | | | w
=" FOR Min. | g
I sEPARATION TO | | =
| EXISTING GIASS | | z
H l z
-
I i g
]
| L
| .
' ‘ | §
g ! .
] | | DETAL 2/5
: i |
i g '
I I
| i
I
| T
2" x 4" PLATE| || or
[} REQUIRED |
|
J QONT,
2 AP e {
LA L I
| ' ﬁ- B
1
a e
g

'/

1/4" #-20 ELCO
MALE/FEMALE PANELMATE
© 6"qC W/t 7/8"
PENETRATION TO EXISTING
WOOD PLATE.

SECTION 118

WALL MOUNTING INSTALLATIONS

SECTIONS 11

SCALE: 1/4" = 1"

NOTE FOR COMBINATION OF SECTIONS:

WALL MOUNTING SECTIONS CAN BE COMBINED
IN ANY WAY TO SUIT ANY INSTALLATION,

INTERNAL REMOVABLE PANEL
W,/SIDEWALK BOL (SEE ETAIL 2/5)
CONNECTED TO

1/2"8 HOLES AT

6" 0.C & FASTENED AT R R
W/7/8"8x3/32" WING NUT @

EVERY SIDEWALK BOLT.

‘—SEE SCHEDULE FOR—]
Min. SEPARATION
TO EXISTING GLASS

4" x 8" (Min.) EXISTING
WOOD BEAM REQUIRED.
STRUCTURAL ADEQUACY
OF EXISTING WOOD

BEAM T0 BE CERTIFIED

BY REGISTERED ENGINEER

OR ARCHITECT PRIOR

TO SHUTTER INSTALLATION.

1/4 W LAG SCREWS © 2 1/2°

250"

TD/EX/ TING WOOD BEAM

0. C.
1/2" Min. THREADED PENETRATION

4" x 8" (Min.) EXISTING
WOOD BEAM REQUIRED.
STRUCTURAL ADEQUACY
OF EXISTING W0OD

BEAM TO BE CERTIFIED

BY REGISTERED ENGINEER

OR ARCHITECT PRIOR

TO SHUTTER INSTALLATION.

1/4"8 LAG SCREWS @ 2 1/2" 0. €
1 1/2* Min. THREADED PENETRATION

TO EX/STING WOOD BEAM

Max.

WING

@

2¢

7/8" & x 3/32"
STUD © 12" 0. C.

_—®

7/8" & x 3/32"
EVERY STUD

DECK REQUIRED

NUT @ EVERY

Max. PANEL LENGTH (SEE NOTES)

WING NUT @

6" 0. C

x 6" WooD

,“—r\_ 1/4"
SECTION 124

1172
TO EXISTING WOOD DECK

LAG SCREWS @ 4" 0. C. W/
Min. THREADED PENETRATION

FL
SECTIONS 12

SCALE: 1/4" = 1"

INSTALLATIONS VALID ONLY FOR REGULAR 20 GAGE STEEL PANELS
USED JOINTLY WITH 20 GAGE STEEL INTERNAL REMOYABLE PANEL

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

—

i
@cmvr. W//REMOVED ™.
STUDS, REPLACED

W/1/2"® HOLES

© 6" 0.

(SEE DETAIL 2/5)

A
)
£
[} .
x
~ g0 §§
r__#:;___{
- | !
. |
! |
- |
|
- |
| ! |
C. . |
| i
i |
. | ! |
S |
8 | | -DETAIL 2/5

—

3.
4

|
I | g
{-SEE SCHEDULE FOR—] { N
| _Min. SEPARATION | o
{ TO EXISTING GLASS | ] C g
! B t | g
L) | 1
I o ' g ;
\ ! | peman 2/5 . PRODUCT RE!\'EWEH)
4 ! ! 3 as complying with the Florids
i = Buiding Cade
- u
@ or T— | Acceptance No © o0f~-0527.08
CONT. { : Espivation Date0 09
]
i i
i | | By 2
1 j | NMismi Dade Ppdduct Control
ﬁ l : | Divislon
! CORT. l —17/8" a x 3/32"
! WING NUT @
1 EVERY STUD
! , @60 C L
! | | 2* x 6" WOOD DECK
! I N t-— REQUIRED
L 1/ — INTERNAL REMOVABLE PANEL (D
W/SDEWALK BOLTS (SEE RETAL 2/5)
C CONNECTED TO THRU
T 1/2"8 HOLES AT OR
“0.C & FASTENED AT REAR
W/2/8"ex3/32" WING NUT ©
EVERY SIDEWALK BOLT.
18" 8 x 1 1)2" -1 2" Min.
LAG SCREWS @ 3" 0. C. 1/4"8 LAG SCREWS @ 4" 0. C. W/

SECTION 128
ALLATI

1 1/2" Min. THREADED PENETRATION

TO EXISTING WOQD DECK

F.B.C. (High Velocity Hurricane Zone)

" DRAWN BY:
NOTES; 0.0365" THICK STEEL STORM PANEL -
%srgzug 770/}/5A /OSEP Vﬁélb L%/;/VLG\);_HFSOR PB%DINGS WITH DESIGN LOADS UP 9/22/05
s ANEL u 9"
g litleco ALUFAB HURRICANE SHUTTERS, INC.| o
2. gﬁv’i‘ %EW zwoglo l-;;%t;? gONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN INc. 13000 NW 38th AVE.
o & W SPECITC DENSTY OF 055 o fa TILLIT TESTING & ENGINEERING COMPANY OPA-LOCKA, FLORIDA J305+4 05147
P, 6355 NW. 36th, St Ste. 305 VIRGINA GARDENS, F. 337166] PH:(305)681~4701, FAX:(305)681-4604
M Phane : (305/871-1530 . Fox : (105)871~1831 DRAWING No
. — EB-0006719 REV. NO DESCRIPTION DATE | REV. No DESCRIPTION DATE
) PSS WALTER A. TILLIT Jr., P. E. ! OLD 01-045 9/22/05) 4 ~ - ’
'17,2 /' FLORIDA Lic. 44167 P ~ - 7 . ~— SHEET 11 OF 12




-
—

1/4" g-20 ELCO

. ALE/FEMALE
' PANELMATE @ 8" 0.C.
1 7/8" PENETRATION

/ /- %EX/STING WOOD HEADER.

g~20 ELCO

1/4"
M{LE/FEMALE
PANELMATE @ 6" 0.C.

W/
1o}

1 7/8" PENETRATION

EXISTING WOOD HEADER.

1l
1

T

1/4"2 LAG SCREWS @ 6" 0. C. W/
1 1/2" Min. THREADED PENETRATION

A
1N

TO EXISTING WOOD HEADER.

1/4" @-20 S. S

JACHINE BOLT W/ NUT

& WASHER ® 6" 0. C.

CONT.

7/8" x 3/32"
WING NUT @
EVERY, STUD
@ 12" 0. ¢

|
& i ' i
s W | ]
nf | | - (:)
| [ | A | EONT.
! ! | CONT. | PRODUCT RENEWED 1 \
i l—@ :)CONT : Tt : : a8 complying with the Flarida I
. vy | I
i | |l Hﬂ NEyen | Baiding Code - . ®
L || |~ DETAL |2/5 | - —® Accsptane 0 08-0S 27-0F | oo reaoer| |
reaner 1 | | WOOD HEADER | | WOOD HEADER REQUIRED ! Expleation Date© o9 | REQUIRED I
REQUIRED | - }\G) REQUIRED [ | N@ | ! 0 -
1 |
IGEE SCHEDULE FOR) | | | ' By ¢ - i | »
| Min. SEPARATION | : @ " g o | SEE SCHEDULE o Migimi B wet Control i |l &
& s -] .y Q
In o : et I— i bk I g :
| i I i e
I ] | W [ [ . " s a
; | I ! 4 I: : : & L L 66" HOLE MAX. | i a
| e EE SCHEDULE FOR < ~/ CUT OFF THIS | | z
: : I I z Min. SEPARATION | | z CORNER L A [ p— 8
| | : { g CONT. | I I % TERNATIV, y ~ I8 : A — g
| SEE SCHEDULE | | 4
i L g u B g ALTERNATIVE 14 10/9 ! o
R Min, = |
I \ Loy g L \ Lo . I qTTH ' f : i VL | SEPARATION 10| | . g
. . E ) ) E X ! ﬁ EXISTING GLASS| | = | g
I v ] T v T A G o . | .
i i é i ) g- H i T“ § a o 3 | 3
! ! 3 i | | = i - ! I )
;} ! H | ] - g | B
|| ] = 1
I | I - | | SEE_ScHEDULE | | < ! - ©O)
I | I = | FOR Min. i | 8 ! | L 7/8" 5 3/32"
! ! I I | 1 SEPARATION TO} | § H : ¥ine Nt ©
i | | § EXISTING GLASS| | , RY, STU
€9 ' 7/8" 6 x 3/32" co | | nilH 4 4 u . AN I ! @ 12°0. C
NT. W/REMOVED I | opn @mu_z,__
I e A BN N I i et s ] 10/9 I PER P
I i ©6 0 ¢ w/1/2" o HOLES L [DETAL 2/5 “ | : OF PANEL | ALTERNATE IF g Wodp DECK
I | - @ 5" 0.C. | | | 7/8" x 3/32" : l E‘ EL/A [LQN QA SE Z | APPLICABLE I REQUIRED
| (see DETAIL“2/5) L | iis Wt'e I \ gy /
o I ., T
o | h @ 1270 ¢ 6'%6" HOLE MAX. |
x6" i 2'%6" CUT OFF THIS —g" C [ ok o]
L—WOOD DECK I ' WOOD DECK I | CORNER  + L8 10/9 N g 0GE OF
REQUIRED ! REQUIRED g E I T | H i 4 41T ’ WOOD AS
i { L L I L ! APPLICABLE
19 ﬂ_L_\ ' ‘ : : \‘?:o 8
< 1 ' ; % ° ! L—Z" Min.
! it
. * ! / T/4° LAG SCREWS @ 4" 0. C. W/
é : \_ i I, 17'1/2" Min, THREADED PENETRATION
bre' WooD @ CONT z -4 g 70 EXISTING WOOD DECK
PLATE REQUIRE ; ~
INTERNAL REMOVABLE PANEL IN—1/4" 920 ELCO
. . W/SIDEWALK BOLTS INTERNAL REMOVABLE PANEL LE/FEMALE Y ‘ A { | ] o] o o o el ] I8
1/4"8 LAG SCREWS @ 4" 0. C, W/. (SEE_DETAIL 2) CONNECTED 1/4"8 LAG SCREWS @ 4" 0. C. W/. W/SIDEWALK BOLTS PANELMATE @ 8" 0.C. 10/9 ﬂ ZEEMQ HVE 1§
11/2" Min. THREADED PENETRATION T0 @B) THRU 1/2"8 1°1/2" Min. THREADED PENETRATION (SEE_DETAIL 2) CONNECTED Wy 1 7/8" PENETRATION % [5“,(5" HOLE MAX.
TO EXISTING WOOD DECK HOLEE @ 6" 0.C & FASTENED TO EXISTING WOOD DECK 70 GB) THRU 1/2"@ TO EXISTING WOOD FPLATE. A CUT OFF AT MIDDLE
AT REAR W/7/8"ax3/32" WING HOLES @ 6" O.C & FASTENED ) LELEVATION CASE 2 OF PANEL * WALL/FLOOR
NUT @ EVERY SIDEWALK BOLT. I

SECTION 134
OR U, I
SECTIONS 13

SCALE: 1/4" = 1°

NOTE FOR COMBINATION OF SECTIONS:

N.

WALL MOUNTING SECTIONS CAN BE COMBINED
IN ANY WAY TO SUIT ANY INSTALLATION.

NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR BUILDINGS WITH DESIGN LOADS UP
TO 72.0 psf AND PANEL LENGTHS UP TO 9'-0" FOR SECTIONS 13,
ALTERNATVE 14, ALTERNATIVE 15, AND 60.0 psf DESIGN LOADS AND
PANEL LENGTHS UP TO 11°~0" VALID FOR ALTERNATIVE 18.

2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

SECTION 138

T

AT REAR W/7/8"#x3/32" WING
NUT @ EVERY SIDEWALK BOLT.

ALTERNATIVE 12

BUILD—-OUT/WA
MOUNTING INSTALLATIONS

SCALE: 1/4* = 1"

S

/ V. Y U,

INSTALLATION DETAILS ON EXISTING WOQD BUILDINGS

PA

MAX. ALLOWABLE NOTCH TO BE

MADE ON DIRECT MOUNTED END
PANELS W/9'-0" MAX. PANEL

LENGTH AND +60., —72 psft.

PRESSURE RATING

* NOTCHES ON END PANELS CAN ONLY BE
AS SHOWN W/ ONE NOTCH MAX. PER PANEL

USED JOINTLY WITH 20 GAGE STEEL INTERNAL REMOQVABLE PANEL

" 1/4"6 LAG SCREWS © 6" 0. C.
. 1 1/2" Min, THREADED PENETRAT]
TO EXISTING WOOD HEADER.

i/
ON

MOUNTING INSTALLATIONS

SCALE: 1/4" = 1"

F.B.C. (High Velocity Hurricane Zone)

DRAWN BY:
0.0365" THICK STEEL STORM PANEL o
9/22/05
/ '||_IE C O \ ALUFAB HURRICANE SHUTTERS, INC. DATE
INC. 13000 NW 38th AVE.
TILLIT TESTING & ENGINEERING COMPANY OPA-LOCKA, FLORIDA 33054 05—147
6355 N.W. 38th, Sh, Ste. 305, VIRGINIA GARDENS, Fi_ 33166} PH:(305)681-4701, FAX:(305)681~4604
Phong : (305871-1530 . Fax ¢ (305)871-1831 DRAWING No
EB-0006719 REV. NO DESCRIPTION DATE REV, No DESCRIPTION DATE
WALTER A. TILLIT Jr., P. E } OLD 01-045 9/22/03] 3 - -
FLORIDA ﬂﬁ 44167 a2 - " 7 ” - SHEET 12 OF 12




